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ItemCode:194
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Topic Name:Mathematics-Section A

ItemCode:196
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ItemCode:199
OR [] € T QU B (greatest integer function) SREAT 3, TR

Question:
A (6
1+6log, ( g]

1- 610gg(lg:]

C log, (é]

D 1- Tlogg(:%:]

Q:10
Topic Name:Mathematics-Section A
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ItemCode:1914
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ItemCode:1918
cot‘ Ztan_l[;]‘ 4t fbaa 3TE.
\n=1

\l4+n+n"
Question: J

A 20
25
B 25
26
c 50
51
D 52
51

Q:19

Topic Name:Mathematics-Section A

ItemCode:1919
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ItemCode:1923
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Topic Name:Mathematics-Section B
ItemCode:1926
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Topic Name:Mathematics-Section B

ItemCode:1929
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Topic Name:Mathematics-Section B
ItemCode:1930
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Topic Name:Physics-Section A

ItemCode:1932
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Topic Name:Physics-Section A

ItemCode:1933
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Topic Name:Physics-Section A

ItemCode:1934
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Topic Name:Physics-Section A

ItemCode:1935
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Topic Name:Physics-Section A

ItemCode:1936
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Topic Name:Physics-Section A
ItemCode:1937
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Topic Name:Physics-Section A
ItemCode:1938
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Topic Name:Physics-Section A
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Topic Name:Physics-Section A
ItemCode:1942

FAB! 2 ¢ UUR fFed oI HH YR g 2 m Sisi=al fehal=a- p &l
IS AU SiTed 3ied. (3Tddid SrafdearyD). d 1m ST e
TS B I0 qUR SRara. FHIRd dgasid Hode gard SIudme! &iH THRd
dgHT FaTeRIEY UM 3.

Question: P Im
A 1:1

B 14

C 3:2

D Ji1

Q:43
Topic Name:Physics-Section A



ItemCode:1943

Question:

A 2
B
C 3
D

Q:44

&I i GHIAR I8P $; G S, § 10 em AT 971 ol Med d 3JshH 44T
2A YRT AT dTd. a8 x — H&ER X-Y Uddld dad HIZd. digsh 0l P 81 U
faig fasdl. (empdia Srafaearym).

3p DG TP WHIRA SO P fdGTT o (573 7) m/s FF S 910 2 @
A x T y 2 H&TORIT UH S T R,

gﬁﬁmﬁﬁwﬁ 4x1075(—xi +2, ) N NTE.x F e e

Y

g 4A

8, 7
T 4cm

3
10 ¢m ! +

|

5, + ¥ 2A

0 X

Z

Topic Name:Physics-Section A
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Topic Name:Physics-Section A
ItemCode:1945
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afgriia fTTh 2radl p 318, =1 T3 S&TUrgH AT §1F TR Y $10d. I

W@Wﬁ (@IF YFTHT) 7 38T dav=y a4 9RE YA S99 (HPHard
grafaeym), fden qesdimyH 9% =1 9aiy Hast,

M

Question:

Nl e Nl

Power of I

B powerof L

I
Il

C Power of Ly
D PowerofL; =P

Q:47
Topic Name:Physics-Section A

ItemCode:1947
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ItemCode:1948
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Topic Name:Physics-Section A

ItemCode:1949
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Topic Name:Physics-Section A

ItemCode:1950
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Topic Name:Physics-Section B

ItemCode:1951
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Topic Name:Physics-Section B
ItemCode:1952
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Topic Name:Physics-Section B

ItemCode:1953
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ItemCode:1954
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Topic Name:Physics-Section B
ItemCode:1956
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Topic Name:Physics-Section B

ItemCode:1957
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Topic Name:Physics-Section B
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Topic Name:Physics-Section B
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Topic Name:Chemistry-Section A

ItemCode:1961
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Topic Name:Chemistry-Section A
ItemCode:1962
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Topic Name:Chemistry-Section A
ItemCode:1964
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Topic Name:Chemistry-Section A
ItemCode:1965
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Topic Name:Chemistry-Section A

ItemCode:1966
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Topic Name:Chemistry-Section A
ItemCode:1967
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Question: X1 TTFIIHR et feciedn yatgiq a3 Hast -
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Q:68
Topic Name:Chemistry-Section A

ItemCode:1968

3d Riormeia a1 erge M2 /M JETIG Sadeis fayd Safd i SfTe o 3ie

Question: -
A Cr

B Fe
C Cu
D Z7Zn

Q:69
Topic Name:Chemistry-Section A

ItemCode:1969

1 SR STl £ HigeT il 1Rl @ guf Wk e 3R SmH e -

Question; [3] 3@ : Eu, 63: Sm. 62: Tm, 69: Tb. 65 : Yb, 70: Dy. 66]

A Eu?" 301 Tm?™
B Sm?" 31U Tm?™
C Tb* 31O yu2*
D Dy 3for yb3*

Q:70
Topic Name:Chemistry-Section A
ItemCode:1970

TIdld Heas 91 A aiedl e 19 guiATIaR drdl.
(Atomic numbers: Mn = 25: Fe = 26)

A. [FeF¢]*

B. [Fe(CN) I~

&4 [I\-'InClﬁ]E_ (high spin)
D. [Mn(CN)4]*~

@ fedienn uaiEid dvg 3w Fast:

Question:
A A<B<D<C
B B<D<C<A
C A<C<D<B
D B<D<A<C
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Topic Name:Chemistry-Section A

ItemCode:1971
I qIdIaRUTdId ST=dT Ydid JEHITIGR daliX- Aiced waid HTde-
el A d B Hosdid d¥ @rar Hel =41 SifHigdsRIaR B S1f0T ¢ fiesdd.
Question: TTHE A. B 3101 C S8 3MTgd.

A HOCL HNO;, Cl,

B Cl,. HNO;. HOCI

c HCIO,, HNO,, HOCI
D

HOCL HNO, CL,0
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Topic Name:Chemistry-Section A

ItemCode:1972

Question: GTCITIUS | Hald ST (2R PIT HTG?

A
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Topic Name:Chemistry-Section A

ItemCode:1973
Ereiiel U d= I Idle S 31E?

(i) n—Buli.
n—CsHyCl

(i) Lindlar cat. Hy

n—Bu-=
Question:

n-Bu
/ :n-Bu

H;,Cs

A

B n-Bu

n-Bu CsHy,

C H]1C5 n-Bu

P CsHy,

J

n-Bu
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Topic Name:Chemistry-Section A
ItemCode:1974
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C=CH,




C=CH,
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Topic Name:Chemistry-Section A
ItemCode:1975
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AR T et I
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Question: @ret feetenn g i”EE P TR ST

A A-IV, B-III. C-1I. D-I
B A-IV.B-III, C-I, D-II
C A-I B-1II, C-I. D-IV
D A-IV. B-II. C-III. D-1

Q:76
Topic Name:Chemistry-Section A

ItemCode:1976
C¢H;(NH,),COOH d fa@rafidasu e oH Idre fedid A, B Sl C.

oI ST © *A° IS Salldl, I 31T B § STE Sl 101 U 31T ¢ §
Question: SITE &, *C” AT FeTaTel facosu foig 3TE.

A 63°C
B 90°C



C 104°C

D

142°C

Q:77
Topic Name:Chemistry-Section A

ItemCode:1977
Question:Bmlﬂ'N dgt P SR 3 %?

A % 1.3-butadiene o ¥HIG E@fﬂﬁ?ﬁ \HI%

B § styrenc 9 1.3-butadiene U<l HEagdlRe s Hwd.

C © 1.3-butadiene 30T Ufshell AT @ T Ggagalke-Tge fHod.
D Buna-N Tefid Siae= N @1 31 A9fifa sieesnt s S

Q:78
Topic Name:Chemistry-Section A

ItemCode:1978

faeT 1: ATec o & g o-D-Tgehial C; HIUT ¢, T SiiSciel SFEdrd I gl
EUIHR HDT TS,

f3eT 11: BIee o o-D-T@ 161 S B-D-TGP IS § a1 HARIRIES
uHHSTE ¢, S ¢ 3 SIS SRITd 01 g1 &UBRI Wbl ATl

Question: IXIT fAYTHIG= SIaR 9l fHasT -
A grgl faym 1 Mfor 11 SRIsR 3.
B Il fayr 1 3101 11 Jepi=il 3mgd.
C fayr 1 SRIeR 318 R U 1 & 318,
D faur 1 9o g U fGUH 11 SRIeR 378,

Q:79
Topic Name:Chemistry-Section A

ItemCode:1979

gIEt 19 11 T Siie geadl.,

qret 1 et 11
A TEumEie L de1 dHl B
B. TATeeiiée 1L 101 A1 e
C. ThamER 111 583 (@T0) &4 Bd
D. T=Tis IV, UreTellel SHeTal Bt S
Question: ST [GeedT qgfiqH O 3T FHast:

A

B
C
D

Q:80

A-IL B-1, C-I1, D-IV
AL B-1. C-IV. D-II
A-l. B-IV, C-I1. D-III
A-l B-III. C-IL. D-IV

Topic Name: Chemistry-Section A



ItemCode:1980

Il 1 9 11 =0T sl g,
et 1 g I
([T 1,80, TSR UG TOR SI0RI 31)
A.CO> 1 g arg 6l oS URiee YR el ahdl.
B s> 1L ¥R a1y W R Ueied SHmHe
T1qU1 f2vd g9adl.
C.S0,> 1. qufes 1 91 Sl IR K1 g6 (REge)
) es g .
D.NO* v, T arg sl gl Fas! g e-adl.

Quesﬁon:{qmri feciedn gafaiga g IR Fast:

A A-I B-IL C-IL D-IV
B A-IL B-L. C-IV, D-III
C A-IV. B-L. C-III. D-II
D A-IV. B-I. C-II. D-III

Q:81

Topic Name:Chemistry-Section B

ItemCode:1981
T Uerdfd 116 ¢ [Ga=0r 0 3T 7.5 ¢ TSI 60 g oo ST 48.5 ¢
BTe fiesdl. H. O 01 ¢ I SFHR 1. 16, 9 12 3 318, Wil fadie]
geryfte! el garuf aRiewmmol (4= glga?

Question: A. CH3COOH B.HCHO C.CH3OOCH3 D.CH3ICHO

Q:82
Topic Name:Chemistry-Section B

ItemCode:1982
BIcH SHTE W awAT 9= faarma &,

n 1 my

A 3 3 -3

B. 3 2 -2

c. 2 1 +l

D. 2 2 +2
Question: TUTTIHT ISR SRIUIT Hfi= T 3R

Q:83
Topic Name:Chemistry-Section B
ItemCode:1983
BeO 91 U1 HIfFeTd HF aRIERid &rfﬂl”;“::uq;i | fred el ge
SWUHS SHqHe [B] 10T SHIFTH TeiRTg s T aﬂﬁ R Be T [A]
Question: TUIT SAFIST fF &

Q:84
Topic Name:Chemistry-Section B



ItemCode:1984
5 Tl Sferm arg Sl 300 K @1 SHard! 3101 sgeb i g 10 e o 20
ferex T TRIRT gradl, 9wt o & 1 S fHesd. [oige

Question:q;mﬁ’—ﬁ]( R =283 JK 'mol"! Tlog 2 =0.3010)

Q:85
Topic Name:Chemistry-Section B
ItemCode:1985
U SId0T GT=ATd 2.5 = 10 kg G190 75 » 10~ kg UT0ATd faRU@q dOR &ad

318 T 373.535 K O Ihavdl o) T S1edT= Uiy g™ g mol™! 3TE.
[STae =] YUITeTd] (Ky,(H,0) = 0.52 kg mol™! {107 G001 e fdg
Question: ~ 373.15K)
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Topic Name:Chemistry-Section B
ItemCode:1986
Questionzo-{]IlOIl MNaOHQ@UETpH ,3.|'|%
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Topic Name:Chemistry-Section B

ItemCode:1987
ETeflel UeTd gIunm=T SiHfhaara!
Pt (s)| H; (2)[H (aq) || Ag™(aq) |Ag ()
E°.q=+0.5332 V 31E.
A¢G® T T (STgos=d] qUliehTd) kT mol™! 3%,

Question: (ATIRT 1F = 96485 C mol ™)
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Topic Name:Chemistry-Section B

ItemCode:1988
3 3fEe0- 3T B Ul AT AHURbUT Segl dIHMIT 9°C = AT ATl
AT &R (RRI% gue Je. 3 THS DI 81 HhaT 300°C U5 Ud. TS
fepeiieor 3=t kT mol™! SA®! 318, [Side =l QU] (Inl0 = 2.3,

R=83TK ! mol !, log2=0.30)

Question:

Q:89
Topic Name:Chemistry-Section B

ItemCode:1989

/A slope = 1

-
i
-

#

log —
8 m :
Intercept = 0.602

_—
log p

SR ATl G416 0.03 atm ST 0R ST Feied] g TEgHA, TF U9
Question: m _ xl0g HE.

Q:90
Topic Name:Chemistry-Section B
ItemCode:1990
DN UGdld 0.25 ¢ FAlR-=1 HIa-1 SR 0.40 ¢ Riewes FaREs
firesd. = a1 SATd Faidl cadban] 3{T8. [Sidos<d guiiepld]
Question: (TrCTCl SHTE: SIU] TXGATT Ag 108 g mol T C135.5 g mol™)




